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1 /37L& =
2 /575 = 7 =
3 JHSO - & =
4 /., 764 + 3 =
5 Y250 + & =
6 /S HES + Y4 o=
7 SHET7Y =+ 9 =
8 5574 = & =
9 LRLLT7 + 3 =
10 LEEL + & =
| 4649 « 9 =
12 L7 RLY = Y =
13 2,705 + & =
14 /766 + L =
15 /367 + 7 =
16 /508 + L =
17 4L + 7 =
18 5,768 + & =
19 JHOY + 4 =
20 &7/7 = 7 =
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T L5885 + & =
2 4,896 + & =
3 /676 + 4 =
4 6384 + 7 =
5 LLIL + Y4 =
6 LALEYL = 3 =
7 3,598 + 7 =
8 /878 + 3=
9 3,096 + & =
10| 40460 + & =
11 7,308 + 7 =
12 4005 « 7 =
13 /6085 + 3 =
14 /.7/2 + & =
15 4302 + & =
16| 3304 + 4 =
17 &EL44 + 9 =
18| /. 79246 + 7 =
19 345353 + 7 =
20 S.5/4 + & =

E28HW) https://youtu.be/HOqUIO-SOWI

MUD2Z2IFAZTLDOLD



https://youtu.be/H0qUl0-S9WI

